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Cieneral Instructions:

L. All questions are compulsory.

2 The question paper consists of 31 questions divided into four sections A, B, C and
12, Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-1) comprises of 11 guestions of 4 marks each

3. There is no overall chowce in this question paper

4. Use ol caleulator is not permitted.

TUS-A [ SECTION-A
s e 1A A 1 SHE R
Question numbers 1 Lo 4 carry one mark each

AABC T, 1 791 Q Wi AB 91 AC & W fag #1 fog #ifam f pQIBC 21 1
In AABC, I and (@ are the middle points of ABand AC. Prove that PQJIBC. g
AT sin 2A = cos (A — 300 & @lH 2 A U A EmE, @ A% 0 TR i) 1

lfsin2 A - cos (A — 307, where 2 A isan acate angleé, find the value of A.

i ; sl , Land . | 1+ oot
A A sind -~ cosd &, A " Aand . {1 HeoY sran Fifam
smifl 4 cosl

3 0, tant {14 coth
BT i ot Wit i o .\ 210 |

sinf + ool
_j/ uH Aufaw WHe o #W owAm & gy, sHiwd o waE gm wifae, e 1

HgElE - 12.4 ST A - 105 T E)
Find median of the data . using an empirical relalion when il is given that
mode =124 and mean =105, 2Masan

EHTE-d J SECTION-B
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Ouestion numbers 5 10 10 carry two marks each.
W Fag i T w143 99 187 0 AT s | 2 h
Show thal the numbers 143 and 187 are nol co-prime. \h
a-tf/“ aoiE e 245 us sgfiia HwEm i ?

Show that 245 15 an irrational number

Find whether the hines representing the Jul&:lwmh pair of hrlear Equﬂlmm intersect at a poini, 2
are paraliel or coincident - 2y -3y | o=

41=8y | 2=0
o ammla H, 7 OABC 5 em, AC 10 cm T AD= 13 cm £ @ €D A #MfF (G 10w w2
E
5
i e
& e B _
- In the given ligure, find CD, i AB=5 em, AC=18 cm and AD=13 onm
' (use 3 =1.73). B
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' P =
ﬂﬁtarllﬁ+ﬁlm=ﬂﬁtﬂ?mﬂh B) = ﬁEE?WT 2
Given tan (A 1 B) i= not defined and cof (A= I}J.*_aqf&. Hand B.
ﬁﬁﬂ?ﬁﬁﬁmaﬁﬁmﬂm% 7
- 150- [0 [0 - |3
|F.ft_ﬁ|rm fciuiaﬁu‘m 250 w0 "s{mﬂm i
Iin'ﬁnm 8 E 15 729 1 [1? 10
Tq% (o0, U 8 F0 WA | HE) A 424 A
Given below is i grouped freguency dw..t.rl.tasFt_m_ﬂ_-__ .
€ lass 150 | 200 ] N ET
inierval ]_,159 200 250 |1;51_}‘=|.{I{'|| '."IEH'JTGBD 400 ]
Plﬁiﬂl—‘l‘l{}f | B 13 9 11 | 10 _I

i Make a cumulative [requency distribution table of “less then tvpe’ for it
HUE-H / SECTION-C

Ty WAL 11 20 7 Uels &1 3 wHE B

_Question numbers 11 to 20 carry three marks each
i ST 92 30T 510 LN T R | LOW 3 39 T SR 10 M 3@ sRifan 3
E Fimd T.C M ol 42 andd 510, Alse find their TICT by using LOM. anl s WCFRLER
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wide the polynomial GX =44 +6x—3 by the pelynomial X =3x+1 and verify the division
algarithm.

F 18 ek [kl S89e s0a Fifaw faF =i =1 9m a9 o0 20w 6 g o By W & A A 9m 3
X 7 sty

Find a quadratac p-ul'qmurnm the sum and product of whase zeroes are & and 9 respectively, Hence
find the serpes. =" - 50T =+ foz

¥

M Ay % fen gt 9 3
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Solve [or x amd % ;
2 3
e T N 3
i, . S :
N
_ AABCH, 30 MR OR 0D 1 BC, OF 1 ACT OF 1| AR M 3
g i 6 OA+ OB + OC™ =017 £ O+ O + A BIY 4+ CF 4

eml B

% In AABL, from any inlerior pouod O ol the trdangle, (0 L BC, OELAC and OF L AR are
drawn.

Prove that QA"+ OB+ OCSOD" +OF + OF + A4 BIY 4+ CE

a"-.

/‘\1‘/‘\ *

mﬂr_ APQR % At AD #1 PS #99: AABC 3R APOR 1 wifcrsmd & 61 fug #ifau fa 3
ar (AABC)  AD® 4
an(APQR) ~ ps*
JE AN = AP arid Al and 175 are medians of AABL amd MMP'E‘CUUEL}", then prove
ar [AABC)  AD?

" ar (APOR)  p?

: u AABC ¢ wmmm &1 afanA - i”? ®, Al cosA. cosli - sinA. sinl %1 T 0 &1 ) ?
W -

Ina J,l_'ianEh- AL :ij._;hl anEIEL{ al O, 1l tanA, ;;5. thien it the value of cosM. coslb—4im A

sini.
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Prove that: il . LrThg o 2 cosec.a
L4 cosa sine
b ~
]
if
i
"?
e
" %

t}q'/ The weekly pocket money of students of class X of a school is given in the following tabile:

Packet
f Money ~ | = g=20 20 - 40 40-60 | 60-20 | BO-100 | 100-120 | 120-140
¥ {nZ) |
. | m”;';f“ 6 8 10 3 ¥ % 5 3
é Find the median for the above data.
_'% |
,jﬁ/. o X o Tl a5 A s adapa) sz 0 g v 3
I?hi-?:'{ covd) i_l__i{‘i}':lﬁ-?' | 155166} _i Lﬁi}iﬂﬁ_"ﬁﬁ-'i_?d“ﬁﬂ-ﬁ
| Terenfefi =t @ |15 E | 20 12 5 |
Agerh T i i ) . .
Heights of students of Class X are  given in  the following  frequency
‘ distribution: L e
Height {incm) 150-155 | 155160 (160-165 || 165-170 [170-175 | «-[ &80 )
O 7 T T i T [N - |
I Find the modal height. .
: :1 : =TT [ SECTION-D ’
2 Question numbers 21 to 31 carry four marks each
_r;t#- g i ue D A § e w720 mi s mi e ) Fad Sgu R uw @ a4
U A i o e e a9 S e w5 wen 9@ S

Dhudnath has two vessels contarung 720 mi and 405 ml of milk respectively. Milk from these
contamers 18 poured into glasses of equal capacity te their brim. Find the oinimum number of
glasses that can be filled.

-U-i"/ S 4t 4 pF - 72 2 — 18y F 2 IE 342 3 -3.2 ¥ w5 i 3 am =i 4

1 Obtain all other zeroes of the polynomial 411 1 1 - 7222 - 18z, if two of its zeroes are 342 and

— 32,

fat it e 2p ) arwrafafy @ aa it 4

T =1

23
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j-u Taig {2, 1) e (1, 2) 20 el & Favelt wr fom €5

olve the following system of linear equations graphically
i—=y=1
= - 1
Does the points (2, 1) and {1, 2] lie on any of the lines ?
- |
' The owner of a taxi company decides to run all the taxis on CNG fuels instead of petrol, diesel. The taxi
charges in city comprise of fixed charges together with the charge for the distance covered. For a journey
' of 12 km, the charge paid is §29 and for journey of 20 km, the charge paid bs"ﬂd':‘

,._,;q‘._.’

.
=L

i} What will a perSon have to pay for travelling 2 distance of 30 km?
i} Whydid he decide to use CNG for his taxi as a fuel?

e ) 1 - e ) < " 4

~Prove that if a line is drawn parallel to one side of a tria
. points, the other two sides are divided in the same ratin.

‘i!(ﬂm AABT

AABC = APOR 8

ngle to intersect the other two sides in distinect

APOR B 3 ar  (AABC) =ar (APQR) B @ fam =i T

. I AABC ~ arom

b 0 0% ety

SR P ﬂq-l---

r”.f . Prove that: o ety

(sinG — 1+ cos 8) (sin +1 + mwﬂ- mmwa

.zi( -2+7, Evaluate:

p

ﬂa!f' . Prove that:

tan @ " el =4 ¥ a0 B ool

1-cot® 1=tand i - " - il |

| = T — e — Wi a4 - g L < sl .“H_I. 1
I M"’ Following is ﬂ'lf-‘ ages of asthmatic patients admitted during a year in a hcrs:plta! Find “-"’fi”l
| the mean age Ef patients by step deviation method. -

Age {in o
a-8 B 24 | 2d- A2 - | - 48 -
years) ; o S 28-32 | 32-40 | 40-48 | 28-56
Number !
of b 25 12 13° 11 14 11
| _patients | el || I A
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Yy | | awn | | Ed | eEd | 3ed | s | 3
(it ) |l | il aafiew | ot | | sifiss | st | arfies | s

_ ol 200 ]h_ 9 (B
F Hen 50 1330 (12 1 l&! 28 15 JI.'F

E%Ealﬁﬁ#ﬁ Us W & w5 A difan 74 a9 Tems e #ifan) s
yltdee g wifa o Fifam
Ages of employees of an office are given below ; I

| More™ More | More More | More | More | More | More More
Ape than. | than |than |than |than |than |than |than | than

{in oF or or or or or or or or

years) | equal fequal | equal | equal | equal | equal eq@al | equal | equal
M 1035 (030 w35 | tod) |05 | w50 055 | o 60

Fmplo (200 (175 |130 |H9 |w9 e |28 (15 ¢
“YEED

Yraw a *more than type’ ng:&uu&ammihm nml'.mn Venly ll:'!:ly actual calculations.
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